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If the quadratic equation formed by eliminating x from x> +ax+8=0and xv + I(x + v)+m =0
has the same roots as that of the given quadratic equation. then the set of values of f is
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If [x] denotes the greatest integer not exceeding x. then the values of x satisfying
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If the equation whose roots are p times the roots of x* — 2ax3 + 4bx2 + 8ax + 16 =01is a
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The mumber of three digit numbers in which 9 appears only in one place is
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In A ABC. if cos3A + cos3B + cas3C + cos3w = 0 then the least value of the sum of two
of its angles 1s
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If 11s the incentre of A ABC and P,. P,. P; are respectively the radii of the circumeircles of
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If the line jomning the points y 2 j and 37 + j —k meets the plane that passes through the

point 27 +4; and parallel to the vectors 37 + 5k and 37 — k atP, then the position vector
of the point P 1s
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If A. B. C and D are four points in the plane such that ‘AB‘E + ‘C D‘l = ‘BCF + ‘DA‘E =100
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If a=7+2j+3k. b=2i +3j+2k and ¢ is a vector perpendicular to p . then
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If the variance of the distribution

X 4 3 11 17 20 24 32
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A die is formed so that the probability of getting a number 7 when it is rolled is proportional

toi. (i=1.2.3.4.5.6). The probability of gefting an odd number on the die when it is
rolled is
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A problem is given to 3 students A. B and C whose chances of solving it are 33 and 1

respectively. Then the probability of the problem being solved by exactly one of them.
if all the three try independently. is
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It a certain recruitment test with multiple choice questions. there are four options to answer
each question. out of which only one is correct. An intelligent student knows 90% correct
answers while a weak student knows only 20% correct answers. If an intelligent student
gets the correct answer for a question. then the probability that he was guessing it. is
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A random variable X has the following probabilty distribution

Values ot X(x): 0 1 2 3 4 5 6 7
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Anunbiased coin is tossed » times. If the probability of getting at least one head is greater
than 0.8. then the least value of 7 1s
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If a point P moves such that the sum of the distances from P to the points A{1.—1) and
B(—1.1) 1s always 4. then the equation for the locus of P is
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The transformed equation of 312 — 6xv + 812 = 8 when the axes are rotated about the origin
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A variable line passing through a fixed point (o, B) intersects the coordinate axes at
A and B. If O is the origin. then the locus of the centroid of the triangle OAB 1s

2.8 96 Doy (o B) fhoma*cd &8 $90B 50 ArasTosH A Bo 55 poddrob.
O Srefioths '_% &ehezo OAB S0 s=do Dochdhdo

Options :



| Bx+oayv-2af=0

Bx+av—3xy=0

[

s ax+pBy—(e + %) =0

N Bx+ay+3xy=0

Question Number : 45 Question Id : 4557344205 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If m =1 1s the slope of a line L. then the product of the slopes of non-parallel lines which
are inclined at an angle of 60° with L 1s
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The area (in sq.units) of the quardilateral formed by the lines 2x+31+6 = 0. 2x-31+6 = 0.
2x+3r—-6=0and 2x-31-—6=01s
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If the straight lines 2x +3v—1=0.x+2y— 1 =0 and ax + by — 1 =0 form a tnangle with
orthocentre at the origin. then (a. 5) =
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The product of the perpendicular distances from (1.—1) to the pair of lines x> — 4xy+12=0. is

-

2 2 - =
[8¢0grasnifio X —dov+y-=05% (1.-1) Hood eondroe oo
e G

Options :

.

Ua | k2

L
b3 | s

]

Question Number : 49 Question Id : 4557344209 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If a circle touches the lines 3x — 4y — 10 =0 and 3x —4v+ 30 =0 and its centre lies on the
line x + 2v = 0 then the equation of the circle is
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If the line 4x + 4v— 11 =0 intersects the circle x>+ 1% - 4x— 6v+4 =0 at A and B. then the
point of intersection of the tangents drawn at A, B 1s
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The equation of the circle which passes through the point (3. 2) bisects the circumference
of the circle x>+ 17 = 15 and cuts the circle x*+ 17 + 4x + 61 + 3 = 0 orthogonally is
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K+ Hdx + 6y + 3 =0 Symd) vowdiivo Fh 5)8 Sdogdwo
Options :

| X+ 6x+8y—43=0

2+12+6x—8y—-15=0
X+y?—6x+8y—11=0

_ P+ —6x—8y+21=0

Question Number : 52 Question Id : 4557344212 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

¥ +17 4+ 2r + 4y —20=0and ¥2 + 17 + 6 — 8y + 10 = 0 are the given circles,
Which one of the following is correct?

% +37 4 2x + 4y — 20 = 0 58050 1% +37 + 6v — 8y + 10 =0 3D &4 Hyzmen.
% Sobh TS A6 HBGKH?

Options :

They intersect orthogonally and will have two common tangents. The length of their

e

comumion chord 1s —\/—
W2

68 Symen oowor pofodfobr, Dol &Snd NYEBpes FOA soiron.

q\g
ﬁ;ﬁ;@& g FED) \E 00

They intersect at right angles and will have two common tangents. The length of their
commeon chord 1s 2.

38 HEeo oowom PoRothzoodr, 0o wadk éﬁ}ﬁq\ﬁgﬁ@%ﬁa 80 Sodron,

a0yl ey ) 2 whdod.



They do not mntersect orthogonally and will have three common tangents. The length
of their direct common tangent is 5,

a8 DyEen oowor HoGOHE ), Dord &Ha é:’lc’)r}'égpgssg §80 “odrromn.

eyl D\d0p B 5 wHhob.

They touch each other internally and will have only one common tangent.

58 Symzen woddorr Opfodhiiobar a8 af S508 S0k 00 Solron.

Question Number : 53 Question Id : 4557344213 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The equation of the circle passing through the points of intersection of the circles
2+ + 4+ 6v—12=0and x2 +3? — 6x — 4y — 12 = 0 and cuiting the circle
1% +12 —4x + 2y + 8 = 0 orthogonally 1s

3P+ Ar+6r—12=0. 5 + 12— 6x —4r— 12 =0 §)mo podd Hohhe MomdFdr,

3 2 L o - =5
X°+y —4x+ 2y +8 =093 HHExd) voadyBlo d0 SBo Sangdno

Options :
| P+12+6x+8r+12=0

+12+8x+6y—12=0

; x24+32+6x+8y—-12=0

P+3?—6x—8r—12=0

Question Number : 54 Question Id : 4557344214 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a parabola passess through the points (—2. 1). (1. 2) and (—1. 3) having horizontal axis.
then the length of the latus rectum of that parabola 1s

(=2, 1). (1, 2). (-1. 3) Do KHom® Fob Hodeoho @0, wio §8e JSdroddor
€08, = HTdecho G308 Tdoono PE

Options :
L 3



b | Lh

La

| k2

|_.,r||,_|

Question Number : 55 Question Id : 4557344215 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The equation of one of the common tangents of the circle x> + 12 — 6y + 4 = 0 and the
parabola 17 =x is

2+ —6v+4=0 SN 085w V= x dordechinod fo .8 &5 ég-’jf 2y
BaoEEdn
Options :
| 2x—y+1=0
2x—y=1
2, :
5 =y +1=0
x—2vr+1=0
4,

Question Number : 56 Question Id : 4557344216 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The equation of the ellipse having a vertex at (6. 1). a focus at (4. 1) and the eccentricity o

. 3 . ]
(6. 1) 55 2.8 %q‘n&ﬁm. (4. 1) 8¢ 2.8 D EDBwodk &?igro@cj = £ORS &g}égéo B0 Heaa00

Options :

16 25

5 23 16



(x+1)"  (3+1)°
-

2

(x+1)°  (v+1) |

16 25

Question Number : 57 Question Id : 4557344217 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the tangent at the point | 4cos 26. 20 gump ] on the ellipse 163>+ 1132 =256 touches

Vi1

the circlex2 + 12— 2x=15.then 8 =

i i1
f i

Ehgz_é;ﬁj;@ 16x% + 1132 = 256 @ e 4c0525.£5i1128j Hochd) G Mo S50

- Jit

2 2 Oy = —_
X+ —2xr=15ed @) dnin, 0 =

Options :

O
T

L3
(3

Question Number : 58 Question Id : 4557344218 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A tangent to the curve 95?2 — 4a%? = 364°h” makes intercepts of mnit length on each of
the coordinate axes. then the point (a. ) lies on

EPa e &8 odoorady

£L

FEHNe wodd pomoh B (0. ) ¥ Do) &0 SEo

Options :



L,

7 ‘\;‘+_1"=

. 42 - 92 =1
42 + 9% =1

Question Number : 59 Question Id : 4557344219 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The harmonic conjugate of P(—9. 12. —15) with respect to the line segment AB. where
A=(1.-2.3)and B=(-4.5.-6) 15

A= (1, 2. 3)and B= (4. 5, 6) =ond, dy-podo AB &yrs P(-9. 12, -15) @ng),
oSS DoodniiHn
Options
" \
[~w ]
1 \ . | 3 '
L (6.-9. 12)
=L, 2, =8
G A -
3
(189
A3 &3)

Question Number : 60 Question Id : 4557344220 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the direction ratios of the lines I; and L, are 2. —1. 1 and 3. -3, 4 respectively. then the
direction cosines of a line that is perpendicular to both L; and L, are

L;. L, »3 Bod 55¢8pe &5 qydien S6dm 2.—1. 158050 3.-3, 4008 L. L o
20RO 0& &8 H0F0p s, 6F FaIem

Options :



3 3 4
s
R YR E Y R Y
1 2 3
L
, V14 14 i

Question Number : 61 Question Id : 4557344221 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the equation of the plane bisecting the line segment joining the points P(3. 2. 4) and
Q(-1. 0.-2) and perpendicular to PQ 1s ax + by + ¢z + d =0 then ac + bd =

P(3.2.4). Q1. 0. -2) HohrHos §&D Sypomd) Sdbipods b3, PQ 8 wonom

=
Lo

&0G doo0 @1 Hiogdwo ax+by+tez+d=0m008 ac+ bd=

Options :

1. 0

[
et
-2

Question Number : 62 Question Id : 4557344222 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

fa )
COs| —CO8 X
2?E'|.T|+E.T | 5

cos| lim + lim - - =
X300 |1| A% 10 T
Options :

1. 1



1
V2

Question Number : 63 Question Id : 4557344223 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

[63 +122+18% 4.+ cme

lim
2[5 +10+15+..+5n][ 22 +4° +67 +.. 487 |

Options :
4

=
]

It
5

Question Number : 64 Question Id : 4557344224 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If [x] denotes the greatest integer not exceeding the number x. then f(x) defined by
[[x]: ifx<2

F()= HJ{]—]. if x=2

1s continuous in the mterval

[' ] = fu& A5 a0 ﬁ@;:l ‘/‘: D-;'jb.l:‘jjuf:'\:' '\:":'-"L"'JC'OE_‘J
f(x) |[1] if X <2 SonSHHE

X)=-
T [F] L if 222 sons@yd

3 Hanoho fi(x) 'thu )80 G “g} lelafele

Options :



[
| = e |
—

i
fad
Nl

Question Number : 65 Question Id : 4557344225 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

s .‘Ia+1+23:
Ifa>0andf(x)=| : — I . then f(0) =
£ optog a+l+lx
a>0w=ydr flx)=|— 0008 f(0) =
yér f)=| 1) 208 f
Options :
; ﬂr{;r+1
.
l=a"
i J_+ 2loga l
y L |
; 2loga

f‘.F{Hl | “+G }] ]
lr}—_’-’logﬂj

Question Number : 66 Question Id : 4557344226 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If.j-' =log, (log, x). then 9.
dx

: "
v=1log,(log, x) wond, —=
' dx

Options :



log, e

2xlog, x

1

xlog, x log, 2

[

1

log, (2x)"

1
log,e log, x

Question Number : 67 Question Id : 4557344227 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
- 2 d-y ko
Ify= :ﬂﬂg‘ —= | for O<x<—then—5 at ¥y =—15
\2—3x ) 3 dx” 2

BR
2N
i
e

-3

|

LS

-

| —
[}

Options :

1 4

16

L3

Question Number : 68 Question Id : 4557344228 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An approximate value of 4 18 is

18 DG 2.8 Gerronod) Jewd
% ;; J

Options :

| 2.0512



Question Number : 69 Question Id : 4557344229 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

z i = 3 ; ]
The sum of the maximum and the mininmm values of 3x* — 233 — 632+ 6x+4.in (0. 2) is

(0.2)e5® 3xt—23 — 62+ 6x +4 @& 1187, 8 Jende Sdo

oph

Question Number : 70 Question Id : 4557344230 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The constant ¢ of Lagrange’s mean value theorem for f(x) =cosx—sm2x in

T or].
g e (L
2 2
x x| " . ; i
= %} woddod® f(x)=cosx—sin2x § Brod MGG Je0d VETodsw BN

E;D‘*Ciéé}ﬁ C e
:

Options :

1, 0



sin” —Ii\/ﬁ‘
A \ S )
4f 1£4/33 )
cOs ‘—]
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i
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Question Number : 71 Question Id : 4557344231 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Aur 1s discharging from a large spherical balloon at the rate of 4 cubic meters per minute.
Then the rate at which the surface area is shrinking when the radius of the balloon is
8§ meters. 1s

98 DY Fesdd) md endd D008 4 Hdodd Bend Mol SHOT0H. = endi
Trgardo 8 pbd)ivd o 0% JTrogo H000SHEI B
Options :

2 A T
2m- / minute

50arDE 2 8.0

it "
lm~ / mmnmute

DdwrdE 1 8.5

2 A T
4m- / minute

508 4 8.9

8m? / minute

DEnaras 8 w.an

Question Number : 72 Question Id : 4557344232 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

s o "
) 3—3x+zﬂh -

Options :



2 x—1
—log +c
9 ;o
2 X1 2
—log S
58 x==1
i 1 2 x—1
—=—t—lop +c
Sx=1 3 x+2
3.
= 2 =
- — +—log +c
4 -1y 9 nid

Question Number : 73 Question Id : 4557344233 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

I .\{x:—+1[10g(.\'2 - 1)— Elogx}
3

e
”
Options :
: w
1{ 1 2 ' 1)
—|1+—| | 2-3log|1+— | |+¢c
1 9‘-. " h|‘ v ]J
1 )7
i 1) [ . LY
—| 14— 6—10g| Ede—cl g
] & -3 L ¥ .

! - "l_
1425 || 3- 210 14 | |+
ol X7 g X J

; |
e 1
lllz—i,,']; 3+legll+i,,l |+¢
3! = ) \ % 1
4 -

Question Number : 74 Question Id : 4557344234 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

I* dx

Y smy+sin2y

Options :



1
Elﬂ-:r{l cosx )+ —lﬂE{I—rCUSt }+—102|1+”L0~3 1|+c
2

L
1 1 2
—log(1—cosx)——log(1+ r:c:rsx}——lag|1+ 2c051'| +c
& 2 3
1 1 2
E]ﬂg{ 1—cos :r}+;10g{1+ cosx}——zlng|1+ 2c051‘| +¢
3 - =
llﬂg[{l —cosx)(l+cosx }|1 + ansxu— c
4. 6 "

Question Number : 75 Question Id : 4557344235 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

I(seu x+ tan® )(h—

Options :

2 3 2

—fan x——tanx+x+c
y 3

1 , 5 tan3 x

—sed Ytanxy+—tanx+—+x+cC
i 3 3

2 i

“tan” x+x+c
3 2

3

| 3 tan™ x

—seC  yfany——tanx+———+x+¢
Al 3 3

Question Number : 76 Question Id : 4557344236 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

\ 27
‘.5111}‘

!+5111 |— 4 AR

11111—- 5111:'] |
6n | 61 |

nso 7 |

Options :

8

1. 157



Question Number : 77 Question Id : 4557344237 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
T
1? i
| “log, (s 2x)dx
"0
Options :
wlog2

Question Number : 78 Question Id : 4557344238 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

- . . < 3 . '
The area (in sq.units) between the curve = = 8x and its latus rectum is

S0 2 = 8x, 3 Tdoondne HPy Ao PHLSD @) JTrogsn (&5.050°08eT)

Options :
32
1 3
64
i B
16
2




Question Number : 79 Question Id : 4557344239 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

dyv

The order and the degree of the differential equation v = px+,/ 252 152 (where p=—)

are respectively

; - h [Z 7 ;2 _ay s
wHfed donddndn yv=py+ifa p +b". {P—T ®woNGHRE)HnE). H8Sred,
dx N

SE08 SSm

Options :

f od

-

3l

Question Number : 80 Question Id : 4557344240 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

. ) j L dx : :
The solution of the differential equation (}T +2yx = 2y which passes through the point
i

(2.0) 1s

dx 3
d—+2‘1:x =2y addesd HnE6dE (2. 0) oo s
)

Options :
2

1 (x—1)=2e"

4

(x—1)=2e"

[

2

(x—1)=¢"

-

(x—1)=e"
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Question Number : 81 Question Id : 4557344241 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Match the measurements given in List - [ with the number of significant figures given in
List-1IL

rdia - 165 adeds Foded ada - [ 2’:5’)}5235&5 Tgé &0335@@5 2N
List-1 List-1I
ede - | erdia - I

A) 74083 I 3

B) 0.029 o 4

C) 0.002407 HIy. 2

D) 274 x 107 V) 5

The correct answer 1s

Ef:@@:;fﬁ BATIFHAND

Options :
A B C D
| W #F IR 1

o=
ve)
i
v

=]
=
=

Question Number : 82 Question Id : 4557344242 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The velocity - displacement (v-s) graph shows the motion of a particle moving in a straight
line. Velocity - displacement graph is a circle of radius 2 m and centre 1s at (2.0) m. The

value of acceleration for this particle at a point (2 & \E A2 ) m will be ms >

Stlo-pdEfodo (v-s) (D D00y Jowd FOHE) €20 DNE) FoTd) BOoHBEH.
S0

atfo dEiodo D 2 margardo S100i» (2.0) mHochdh) 5 Bodo fie &8 K)o, wond

[2—'\/5- \E) m ooy S & S0d80 #0800 e ms™

Vo

(]

b
bn

Options :

Na

1.

2 4

b

Question Number : 83 Question Id : 4557344243 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A body is projected horizontally from the top of a tall tower with a velocity of 30 ms™. At
time ty. its horizontal and vertical components of the velocity are equal and at time t,. its
horizontal and vertical displacements are equal. Then (t,—t;)=

(g=10ms™)
D8 8 3pdo D Dok 2.8 SN §&a Sdroddonr 30 ms™! Fro&® DBo=6. t;850H0
98 O §&r JSdrodd Hdcdn E&esoon Sroaen HSrSom ). HhdDICHo HG
g Hadrodd ok E&xooe ?;‘:'515;53‘3“'3_)\.; DATHOM Q). wons, (t,—t)=
(g=10ms™

Options :



-3
i )

Question Number : 84 Question Id : 4557344244 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A particle is projected at an angle of 60° with the horizontal from the ground with a velocity
10~/3 ms—'. The angle between velocity vector after 2 s and initial velocity vector is
(g=10ms™2)

grdd 08 el $0Q) 103 ms! Bod §8e 35rodudl 60° Swod HEHo Bed.
2 s S$ard S B6d% 50csn FOIN H6¥s S0y Fwo

(=10 ms™)

Options :

l. 0°

Question Number : 85 Question Id : 4557344245 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A bead of mass 100 gram 1is attached to one end of a spring of natural length L and spring

{\E +1)mg
L

constant k= . where m is the mass of the bead. The other end of the spring is

fixed at point A on a smooth vertical ring of radius R as shown in the figure. The normal
reaction at B just after it is released to move is (g = 9.8 ms™2)

(«f—+1}m£
L 3%re 4 Hdodn k=——T-"—" T @e Poroso o Qoh w8 D8 100 rdne

o iy B 88 sowrd. & |)oh Sodsd Q5 ngéﬁ@ 59 Dend derpes® € 8)
080 RS Harstd Sos@mop He ff}r:ﬁ Hothd A HEoes* Srodiy Hiodndod. SDodiass
OO SHEOS Hdignoes® B 5"}:5 wHeoon |H&Sdy (2=9.8 1115—2)

Options :

L LT3N

L;Jd :J
£ B
Z Z

I
b3
ih
A
Z,

Question Number : 86 Question Id : 4557344246 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A rocket with an mitial mass ‘my’ 1s going up with a constant acceleration ‘a’ by exhausting
gases with a velocity “v’ relative to the rocket motion. then the mass of the rocket at any
mstant of time 1s (Assume that no other forces act on it)

o°84) Yoo s v SH5NE Frauded Hdde BIHT ‘my’ FO 855078 ey 0°8¢5 “a’
Q6 &808" D& FHE)6. ) §20065°D 0785 (55073 (246 2erBd SVBoHBEHTok)

Options :

a
- =t
m=mge

m=mge V

o
m=mye 2V
3

:12
= —._,‘Il
, m=mge e

Question Number : 87 Question Id : 4557344247 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A particle 1s released freely from a height H. At a certain height. its kinetic energy 1s two
times ifs potential energy. Then the height and the speed of the particle at that instant are
respectively (g = acceleration due to gravity)

2.8 HDad0 _Erﬂﬁ?ﬁr;f'l_' H 03 508 56078, e5°T8 Jédd o) fidads, Héa 988 Do
By &)B. & 005" & 3 JE) Hodcsn Brdwen Sddm (g =My dedeabn)
Options :

H |2gH
1. 3 e

[
7. 3 3

ZH ([2gH

37V 3



E. 2¢H
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Question Number : 88 Question Id : 4557344248 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A uniform chain of length /" and mass *m” lies on the surface of a smooth hemusphere of
radius R (R =) with one end tied to the top of the hemisphere as shown in the figure.
Gravitational potential energy of the chaimn with respect to the base of the hemisphere 1s

Ht0es” SrHadSin N 8D ‘m’ Lﬁﬂhcmr‘i\, JEE& Tendd R argar g;ﬁ:u (R =) o
g0 DohHH[E EHnd B, wgid

Question Number : 89 Question Id : 4557344249 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



1

A particle of mass 15 kg 1s moving with a uniform speed of 8 ms™ in x — 1 plane along the

line 3y = 4x 4+ 10. then the magnitude of its angular momentum about the origin in kg m’s™ is

[ G530 |
; 5

15 kg \$Sg073e =g Sono 8 ms~! €68 $AS° x — y ooes® 3y=4x+10 By

Dol $OK08. wond Hredodkd Hor T Fbobh BSgBH H0Srwo kgm’s!

i 4
oy [ sin53°=— ]
., 5 )
Options :

240

30

[

5 120

4. 280

Question Number : 90 Question Id : 4557344250 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An empty bucket of mass 1kg attached by a light cord passed over a pulley of a water well
1s released from rest, If the pulley assembly 1s assumed to be a uniform solid cylinder of
mass 8 kg and free to rotate about its axis without any friction. then the speed of the bucket
as it hits the water 16 m below 1s

(g=10ms™)

lkg $8go7a8e 8 3@ 8¢5, .8 BO8Y & $5%0008 af §inp Hod I rdS0E
Dfe P& Hod S0 wdob. §hy SgaPd> o Horr g Dodp BHom Esomo
2208 8 kg 55078 Ao Hd Srdo e &R, 16 m HHSS &8 OB e8LHiss

es 2384) HA



; 16 ms!

20 ms™?
4,

Question Number : 91 Question Id : 4557344251 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

, T
The displacement of a particle of mass 2 g executing SHM is given by ¥ = 3sil [ 4r + 3 l |

L1

Here v 1s in metres and 7 1s i seconds. The kinetic energy of the particle when 7= 7 15

"T B
le rTT,_g'-é ersoes” &d) 2 g@ngoed e a8 82 a8 @owTd) ) %m[ 4r+— 5 1 35

o
/

L

; " : : T
B88bnd” driowddyy. ag) d ¥ Hodidess” So8ain faEhed® fe. r:E 0005
&5 S0 & 8§

Options :
, 047

L3
o=
Ln
e

Question Number : 92 Question Id : 4557344252 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two bodies of equal masses are some distance apart. If 20% of mass is transferred from
the first body to the second body. the gravitational force between them

HErS ($SgorHes fe Dok SHHen Fod drdod® Fd Dobad &G, DG SHDH
5006 Todd SHHE 20% (550780 26O TR, & SHHeo Sy do HddE esn

Options :
Increases by 4%

4% D



Increases by 14%

14%

[

Decreases by 4%

5 4% &

Decreases by 14%

14% &5

Question Number : 93 Question Id : 4557344253 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

One end of a long metallic wire of length L. area of cross-section A and Young's modulus
Y i1s tied to the ceiling. The other end is tied to a massless spring of force constant K and
amass ‘m’ is hung from the free end of the spring. If ‘m’ 1s slightly pulled down and released.
then its time period of oscillation is

L 289, Amégﬁx Breoghn, Y ool MHagsnlio af FE38 865 200K H0é

E_

Berdbadh. &5 n..-_S iy SR Ke&a%o‘-‘oééx o (85508 dord (@) g ner iR,

o J:Jﬂga‘;. Fo5 ‘m’ (G5gorad Edord. ‘'m’ & dqoyont |Bols ord S895T, o

[T

Foodds seHmn

Options :

m
K

m(KA+YL)
2n
KYA
3
L [m(KL+YA)
4 = KYA

Question Number : 94 Question Id : 4557344254 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Two solid spheres of radi1 2 mm and 4 mm are tied to the two ends of a light string and
released in a hiquid of specific gravity 1.3 and coefficient of viscosity 1 Pa s. The string 1s
just taut when the two spheres are completely in the Liquid. It the density of the materials of
the two spheres is 2800 kgm™. the terminal velocity of the system of the spheres is
(g=10ms™>)

2 mm o80dn 41]]1115*&@'*%:113@3 e Dot Poil Aerod el 8985 o°do Bodh Fie 6
o), H3Q odEgo 1.3 Hbaosn E‘“ﬂ:‘é@'—* oo 1 Pas 80a% a8 (B50e5° Sherdy. Dotk
e @5065° &5Hyd oo HrbHges (8554 BHom). Tok Fee Horg ol
2800 kem ™ =onsd, Both Fee SgBY DL, SEH Ao

(g =10 ms™)

Options :

| 2 cms™!

. 4ems!

3 4 ms?

-~ -1
Rl

Question Number : 95 Question Id : 4557344255 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : A room can be cooled by opening the door of a refrigerator in it.

Reason (R): Heat always flows from a body at higher temperature to a body at lower
temperature.

OEEo (A): 2.8 1O &) BHEVLT e 360 Goth oo & HAD SBsE5L).
s8m0 (R): Q&S sFfe 3¢ &5 a8 3HY SHod $85)5 aFd 38 &3
SPB sHEGTrdan 2.

Options :
(A) and (R) are true: R is the correct explanation of (A)

(A) H8asn (R) o0 Hegiion @ (R). (A) Gng), 535 Hibe
L.



(A). (R) are true: (R} 1s not the correct explanation of (A)
(A) $0805» (R) oo 5w @ (R). (A) D0g),. 5985 2500 s

(A) 1s true. (R) 1s false
{fﬂ Segdin, (R) eddgn

(A) 1s false, (R) 1s true
(*—U s0egsm, (R) ddgdon

Question Number : 96 Question Id : 4557344256 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A wire of 20 Q is immersed in ice. If 10 A current is passed through this wire for 1 minute.
ice completely melts. The mass of the ice is nearly (Li.. = 79.7 calg™)

20 Q Ao Ao & HodHE HwAod. & & hom 10 A dchgs 1 ddodo arén
m

a0tk S0 Jrome S00E8, & Howh Bagord Dartom (Lo = 79.7calg™)

Options :

335g

Question Number : 97 Question Id : 4557344257 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A graph drawn between absolute temperature and volume of 3 moles of helium gas as shown
i the figure. If 5 cal of heat 1s used m the process. then the work done is

Frde rdoho SO0 B0 ﬁ%fg_‘iééo SBciy DS HESTeord8 ;33(7,55 A0S D

D065 Srhd Do soh. & P 8ahes” S5abe 050 €I@TFHoNSL 0S5, 2008 B

Lad

y-axis
M
T 30 —
Vv
o R /
10 — o*
> s
5 10 15
IK) —
Options :
, 2107
, 8417
31267
4 6217

Question Number : 98 Question Id : 4557344258 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

3
An 1deal gas 1s found to obey py2 = constant during an adiabatic process. If such a gas

mitially at a temperature T 1s adiabatically compressed to half of its mitial volume. then its
final temperature 1s

[ Y

w8 Bwdd) Todndy PV = %c‘itﬁ%‘ s HIEGDHH RE°RE HIE 00 FrETodHB.
8 GFUE T 3 & TodndHd €O HS H0Srdna™ Sidn i E{;}S“@ésr‘r—'

HoFDodBHS, o0 S Sl

Options :



2T

3 22T

4T

Question Number : 99 Question Id : 4557344259 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The rms speed of oxygen molecule at a certain temperature is 600 ms™. If the temperature
1s doubled and oxygen molecule dissociates mto atomic oxygen atoms. the new rms speed
18

wf GNE ¢ ©8znd w0 ms S5& 600 ms ™, &S5 Do BHIYH sEmd
wnd) wfed Hddroodeom DAFE BF rms S5

Options :

| 120 ms™

150 ms™?

;3 1200 ms™

o |
4 600 ms

Question Number : 100 Question Id : 4557344260 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A progressive wave of frequency 500 Hz is travelling with a velocity of 360 ms™. The
distance between the two points. having a phase difference of 60°. is

500 Hz &rdsddgo fe w8 9T ddofo 360 ms 3508 Hosrstod. ok Dot

Sagy SwEdo 60° 08, & Bod HodhPe Dy Grdo

Options :
p 1.2m

2 12m



"
3 0.12m

4 0.012m

Question Number : 101 Question Id : 4557344261 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A source S emitting sound of frequency 288 Hz is fixed on block B which is attached to the
free end of a spring S, and an observer O 1s on block A which 1s attached to the free end of
spring S;: as shown in the figure. The blocks A and B are simultaneously displaced towards
each other through a distance of 0.5 m and then left to oscillate. If the angular velocity of each
block is 40 rad s7L. the maximum frequency observed by the observer is

(speed of sound in air is 340 ms™)

288 Hz &rdesgotio Ff?g::m"ij ghacdes 30:531&@\ 2.8 25850 S& w8 @)of S; @nE),
ﬁ;\)ngﬁ:j AP (8] 0) s'féég?a%p Efo B % fHford. Hboest Srhd Jdorr e SB3edad, «f

ol Sy Gk _"Qaggaﬁ D568 EHwds B3y AD Sod. AHBcS» B B30 80

eE0°0 33 883 0.5 mdrdo S8 Gobo T Ao S8, .89 8 B30y G308,
§=8a% Do 40rad 571 wowd, HBIoLh H0ED0DS KHEY DLHSgo=

(mde*® ¢d 5& = 340 ms™)

0 S
@ 8
51 )
A B

Options :
288 Hz

,» 310 Hz
324 Hz

, 256 Hz

Question Number : 102 Question Id : 4557344262 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



In a compound microscope. the focal lengths of two lenses are 1.5 cm and 6.25 cm.
An object 1s placed at 2 cm from the objective and the final image 1s formed at 25 cm from
the eve lens. The distance between the two lenses is (in cm)

a8 Bootng HrE) 6B)ASY, Bod hse grjodoren 1.5 em H8a3n 6.25 em &8
SHPH 5Dy E8o H108 2 cm Ardosst Sodd $b Pa&Domo JiF 8o Hod 25 cm
S8 JG)BSH. 2003 = Dok Sbse HEgErde cm o

Options :
1.6

T

[

Question Number : 103 Question Id : 4557344263 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In Young's double slit experiment, the intensity of central fringe 1s I and fringe width 1s B.
If a point 1s at a distance x from the central fringe. the intensity at that point is

arofi zod HIS BDEPHoT Srdgind 54 EESE I Hodasn He Tdeny B.SodohH H&
So0f) X Brdos® Ho DHokd) I EHe

Options :

i
&



Question Number : 104 Question Id : 4557344264 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A proton and an o - particle start from rest in a uniform electric field. The ratio of times
taken by them to travel the same distance in the field 1s

.8 @S S6050 2.8 0 - 8200 2.8 868 DS ggoss” VHoHs S0k pohen Doron.
wons g0 el Bodr w8 Srocd) @oirdothtify a8 Hdsodne JME

Options :

1\/E\E
\E:l

L2

251

4 1:42

Question Number : 105 Question Id : 4557344265 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two charged balls moving in the same direction with same velocity v are placed in an electric

; ; yio N s 5w
field. After some time. one ball moves with velocity - at an angle of 60° with the initial

direction and the other ball moves at right angles to the initial direction with a velocity v'.
Then the value of v'1s

1

28 Jtfo v & 28 BFS” §drenhil) Bok =384 nodhed IBgs §Eos” doad. Fod

sro0 do%d, w8 208 & H¥S 60° Fwod” ﬁr‘ic@‘m Boidsd pod 8 HFS oo

A
v RRo&5 Schendhamon. wonad v Jend

Options :
v

N2

v
, V3



Question Number : 106 Question Id : 4557344266 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Electric field vectorin a region is given by E = { 3 +4yf ) Vm™ . The potential at the origin

is zero. Then the potential at a point (2.1) m s

w8 BOT0S” Digd BB BB, E=(3f+4j: ]1'111 T Qdcdss. Sure Doy 5
DAoL Frhghn, wond (2.1) m Hodhd 5§ FBIHS
Options :

1 IV

3V

=S ¥

4 =PV

Question Number : 107 Question Id : 4557344267 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the circuit shown in figure. if the point R 1s earthed and point P 1s given a potential of
+1800 V. then charges on C, and C; are respectively

o, P DHodhdss +1800 V @vﬂ:&oﬁ &5

Stioed” S5re :5%,33 R Zlodiay #irand Soge
ssggeen S

inSaed Cy5dotn C; 3rdbd
Cy
| |
| |
4 uF
+1800v  ©1
. i i & b B & :
P Q R
s q 1
2 UF e
| |
| |
Cs
Options :

; 24%102C: 1.2x1073 C



1.6x103C:0.8x102C
32x103 C:1.6x103C

A 4.8x103 C;24x103C

Question Number : 108 Question Id : 4557344268 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The bulb which glows with maximum intensity in the given circuit is

502

| | bulb

Options :

1 4Qbulb

2 Qbulb

3 3 Q bulb

4 6 Qbulb

Question Number : 109 Question Id : 4557344269 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



In the circuit shown in figure. power developed across 1 ). 2 £ and 3 Q) resistances are in
the ratio

HE0e8 Hrad Swohosd” 10,2 QHdcsw 3 Q AFred” Blodd FrHdisne dmg

10
W
3Q
L2 W
? ,
VYW
2Q
Options :
p 1i2:3
2 4:2:27
; 6:4:9
4 2:1:27

Question Number : 110 Question Id : 4557344270 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two long straight parallel conductors are carrying currents 7; and 7, in the same direction.
Work done per unit length when the distance between them is doubled is

Doy SHA FEH JSr0dEd FrEoed” i) 005N i Dgden 48 BFS HSIrdyaTom.
TR S04y BrotR) 8o 5?&5&3@3, @adr EH D 2bAS DD
Options :
-
Ex‘i—['rl Iy
| 27
g .
‘E—ﬂfl i In[2]
2 2;

27



Question Number : 111 Question Id : 4557344271 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A straight conductor of length 32 cm carries a cuurent of 30 A. Magnetic induction at a
point in air at a perpendicular distance of 12 cm from the midpoint of the conductor 1s

32 cm arddd) fio @mf:l ararSo Mo EDAuc‘bgm Rerdod. & arrso ;’mﬁg £)060a)
S06 orirErd8 vornorm 12 cm drdos® mdS” e Hohs 8¢ wodHar), o @8

Options :

1 0.2 gauss

. 0.3 gauss
5 0.4 gauss

, 0.5 gauss

Question Number : 112 Question Id : 4557344272 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A sample of a paramagnetic salt containing 3= 10°* atomic dipoles each of dipole moment
21072 Am? is subjected to a uniform magnetic field of 880 mT and cooled to a temperature
of 3.5 K. The degree of magnetic saturation achieved is 10%. If the samiple 1s subjected to
a magnetic field of 990 mT and cooled to a temperature of 2.1 K. the total dipole moment
of the sample 1s

9,585 2x 10723 Am? BYEYS Erssgo Ke 3210 48570 Aol §90 &%) a8 o
wohadm 0¥ b Sy 880 mT DEDS Eﬂ-cbtonﬁtioﬂt ot 3.5 K sdiids
SOR0wr. Sou3yy 10% wolam od ;33&‘5&_: rond @ofiod. Srdnd 990 mT eolar, o
Bi0e5® &0 2.1 K PS5 Serbys, oy $90 40B8 Bndgo B @rdigo



Question Number : 113 Question Id : 4557344273 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A coil of wire of radius ‘7" has 600 turns and self inductance of 108 mH. The self mductance
of a coil with same radms and 500 turns is

Tgargson 17, B3¢ 600 e 2.8 & SHey 08, Hgoho (DS 108 mH. =08 Fgrgsw,
500 dny &) DHEE & SHey D0E) Hofo (@RIE

Question Number : 114 Question Id : 4557344274 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the AC circuit shown. E = Egsin(@rf + ¢) and =17 sin{ ot + @ +% ‘ Then the box

contains

o R — ) Y e ) P
wras AC Soofices™ E=E ;sm(ax +¢) So8cdn 323{}5111‘ ﬁﬁ+9’5+zl 89 000 &3

LY '

S

. >3

|
y
e

0,

ac source
ac 2580

Options :



Only C
C g

L and R 1n series

, L8050 R @

C and R in series or L. C and R in series

C 508050 Ren @8¢5° a0 L, CHobasn Ren @Fedes

Only R
R &rEd

Question Number : 115 Question Id : 4557344275 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The oscillating electric field of an electromagnetic wave is given by

S 3 Vi, ;
E, =30 Slll[ 2x107°t+3007x ]‘»’ m . Then the value of wavelength ofthe electromagnetic

wave 1s

&8 Dogtohir) od ddoifo TnE), Fod :Jrfmg@éﬁo E, =30 sin[_'? %101 +3007x ) Vm .

Options :
1 5.67%<107m

, 6.67x 10°m
5 66.7x10-m

7.66x 10°m

Question Number : 116 Question Id : 4557344276 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Photons of wavelength A emitted by a source of power P incident on a photo cell. If the
current produced in the cell is I. The percentage of incident photons which produce current
in the photo cell 1s

(h 1s Planck’s constant and c is the speed of light in vacuum)

9

3 o380

d
g
=

H

g0 o &8 2380 H0s dE wond léﬁoﬁggﬁo o girden &8 570

gk fer

ST, P10 BIONS JgS Hardro [ woxns, Hodioes™ QDS Derar) §8do
DES FLrde T80

(h- Sof Qorofo HBoSH ¢ - Lrdgos® 5708 &)

Options :
100ePc

1. Tha

100ePA
q The

100Thx
; ¢ePc

100Ihe
ePh

Question Number : 117 Question Id : 4557344277 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If A and A, are the wavelengths of the photons emitted when electrons in the n® orbit of
hydrogen atom fall to first excited state and ground state respectively. then the value of i1 1s

TTEES AESr0IST n S 50 Jomden s aaad SHdasn 2T ones)
SBSHE BSBE Pirso SEoNBozgen SEdm A 538050 A mond, 7 Jend




Question Number : 118 Question Id : 4557344278 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

The number of half lives elapsed before 93.75% of a radioactive sample has decayed. is

T

elelenalagept “D‘*go 93.75% Bohdn dodmas D48 Eg Bad FOHNY Jopg

Options :

1.

Question Number : 119 Question Id : 4557344279 Question Type : MCQ Display Question Number : Yes Single Line Question

6

-2

Option : No Option Orientation : Vertical

In the common base configuration a transistor has current amplification factor 0.95. If the
transistor is used in common emitter configuration and the base current changes by 2 pHA.
then the change in the collector current is

28 Ernd ¢ sord Jovghdnd® 0.95 Hhgs DgS s ) §& wolb. AN w86

g DargHne” rHairiod b0y o0 el Hihgs Paiti) 2 HA Srd) By,

€
0 D80S DegE Pariros® Srdy

Options :

; 19 A

, 0.91 A

, 1.opA

, 38uA



Question Number : 120 Question Id : 4557344280 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the height of the transmitting tower 1s increased by 30%. the area covered by it
mcreases by

B Iy 30% odS wb Parado B0 dregod pdhbe
Options :
| 10%
n 21%
3 30%
4 60%
Chemustry
Number of Questions: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 4557344281 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

When a metal surface is exposed to certain frequency of electromagnetic radiation. the
kinetic energy of electron ejected from metal swrface 1s 0.20eV. If its work function (W)is
4.80eV. the approximate frequency of radiation falling on the metal surface in Hz is

a8 DDRIS FSeNdgofio ddglohar od HEJwmo & rdoon D&SDYB, Siedeo
$0d DeoSkS Jogs H8=288 0.20eV. & oo B Bahatio (W) 4.80eV monz
: o)

)§8ma0 FSiysdgo Hzed® Sadrdomr

)
[E
-
ok
JHE
o
T
=1



4 1.98 x 1016

Question Number : 122 Question Id : 4557344282 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the ratio of energies of electron in the excited states of H and Li*" is 1 : 9. the radius
ratio of electron in the same excited states of H and Li*" is

R £ . Boy, ™ : T o — -5 ' oE
H, Li*" 06" ¢824 Fonos'd Jogs o g 1:9 sondiyons «6 ¢s28 Foned

H LiZ o ﬁ@@jﬁ TgrTe J8

[

Options :
1 0:1

3:1

L

Question Number : 123 Question Id : 4557344283 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the correct statements from the following.
1. Inthe periodic table. about 78% of elements are metals.

ii.  Ina group. the metallic character decreases from top to bottom and in a period the
non-metallic character decreases from left to right,

i1, The element Ho belongs to f-block.

808 DHGeed® H6A33E o730 Hdotiidw.
[ sy s
Dosesy 78% Swresten 5 en

i, el ((rde” O Serddn pdod) Sobs TFond Fod @ihdod HHdodw as
DG i Heamidy QB Hood) BaB8 TFond Fobd SihdEond.
o A
1. Hodoreso f- exdd Sodd.

Options :
| il i

i, did

L-2

3 1111
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Question Number : 124 Question Id : 4557344284 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The correct order of dipole moments of NH;. H,O and NF; is

NH,, H,0 $08080 NF, o &thd grdse 30008 (Esosn

Options :
| H,0>NH, > NF,

H,0>NF, >NH,

[

5 NF;>NH;>H,0

NH, > NF, > H,0

Question Number : 125 Question Id : 4557344285 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

. : i : . . pr A ’
The number of electrons present in bonding and antibonding orbitals m O, 1s respectively

(=K
-

0, & 2o, wdwols efirdFal Jogse

= L o

Options :
| 10,6

i Sl

L3

A7

, 10,8

Question Number : 126 Question Id : 4557344286 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If ry. 1, and 75 represent the most probable speeds of three different gases at the same
temperature as shown in figure with molar masses M,. M, and M, respectively. the correct
order of molar masses of these gases is

M. M,. M3 3rerd |88gordHentio Sordy aradngo 103 Dogragd Smen Hioes® SRR

- To: 1300 @008 08 drerd (BagorHhe S0G0S (B0

MNumber of Molecules

e ;E-uag

Speed (Z¢io)

Options :

M, >M>M,

M, >M, > M,
M, > M, > M,

. M=M= M,

Question Number : 127 Question Id : 4557344287 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The volume of 0.1 M HCI required in mL to neutralise 20 mL of a solution containing
0.106 g of Na,CO; is

0.106 g © Na,CO;de 20 mL @@o7q) SL0E00NEE s=50dS 0.1 M HCI @S0

HS5H8S0 mL e

Options :

y 10

55



Question Number : 128 Question Id : 4557344288 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If enthalpy of combustion of carbon to CO, ® is —394.0 kT mol L the enthalpy change for
the formation of 17.6 g of CO, from carbon and dioxygen at the same temperature m kJ 1s

563 $08& CO, .y 80 857 Jorey —394.0kJ mol e=ond «3 s 54 17.6 g CO,
30, B shHus $of) JGEesT Jogrdy drty kI os®
Options :
| —157.6
2 315.2
qﬂ'

5 157.6

—315.2
4.

Question Number : 129 Question Id : 4557344289 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

At 1000 K. if the equilibriuim constant K, for the reaction

ENOCI{EJ — ENDngfClE{E}

is 4.157 x 10~ bar. the K. (in mol L) is (R=0.083L bar Klmol™)

1000 K 54 2NOCI_, = 2NO ., +Cly_ 365 $ap8 Horossn K=4157x10"* bar

[="
@ond K. (mol L !ees®) (R=0.083 L bar K mol ™)
Options :

| 4.16 < 1077

5 416 x 107

5 5.0 % 10
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Question Number : 130 Question Id : 4557344290 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the ionization constant of hypochlorous acid (HOCI) is 2.5 107, the pH of 1.0 M of its
solution 1s (log 5=0.7)

TFEED edo (HOCI) ecHdsdn Horoso 2.5 x 102 &0, 1.0 Mes ) rdwo pH

e

Question Number : 131 Question Id : 4557344291 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In which of the following reactions. oxygen is not liberated?

Bobd S6ges® BIS =fHzmd ddde 568?

Options :
Reaction of HOCl with H,0,

H,0,& HOCI 555

Reaction of acidified KMnO, with H,0,
H,O, & EE};%@ KMnO, 545

Reaction of iodine with H,O,in basic medium

s 8osrs8os® Hy0,8 e@rad 36

Reaction of lead sulphide with H,O,

HZDE.&" af& fag}& r:ﬁdg



Question Number : 132 Question Id : 4557344292 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A compound (M,0,) of group I element (M) hydrolyses to form M. OH and X. Another
compound (M'O,) of group I element (M) hydrolyses to form (M)". OH . X and Y. What
are X and Y respectively?

iy Idressd (M) 2.8 :3305{5;’3:313 (M,0,) ea@ﬁfﬁ&za FodH M. OH H805»n X o5
DEBH08. Y I 2088 Sres (M) 339¢5850 (M'O,) s0dFdn Tod (MO,
OH . X %80%n Y exido Dd&ﬂf}o&. X S:8cin Yeu SHhdm 207

Options :
 H,0,.0,

L3
I
I
L¥¥]

H,.H,0,

Question Number : 133 Question Id : 4557344293 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the correct statements from the following
1 The atomic radius of Al is lower than the atomic radius of Ga.
ii.  Boron exists in many allotropic forms.

ii1.  The melting point of Ga 1s lowest among the group 13 elements,

B0 o8e° BB Jddmeh Hrfodm.

i Al Hd50mca0 Jgﬁ*dmj, Ga 58857 o ﬁ}?ﬁa g08 $59).5
. 508 «I8 drarodoeds” &otno

. (D) 13 Srostedt Ga s edgey ($DE5S PBB00008
Options :

| AL, i

11, 111

[

4 i i



Question Number : 134 Question Id : 4557344294 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following 1s not correct corresponding to chemistry of group 14 elements?

14 3 7)) Sroste darohsd E—Zjﬁ}é HowohHodks §oll i3S A6 HOTHSH TR?

Options :
Lead has no reaction with water due to formation of protective oxide layer

B&& ABS SdgBk. HAE 52600 F8S wF)E FF JdydEbo

GeX, 1s more stable than GeX
Ge‘(f, mﬁ&bg Ge‘\i o8 J.‘Jé:: 33

PbX, is more stable than PbX,
PbX, E%dd_“{ga PbX, 803 J 80y, 5

Tin on reaction with steam liberates hydrogen

&3

|

O) eDBE SEET 08 TEBOD DL Dot

Question Number : 135 Question Id : 4557344295 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The chemical substance of photochemical smog responsible for eve irritation is

5708 Garohd wrie ol O Sarohd & ogo Sot3 BEFIE seddihb.

Options :

1 CH,=CH- CHO

7

CH; —C—0-0-NO,

L2

, CH,=CH,

CH



Question Number : 136 Question Id : 4557344296 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Match the following.
List-1

A) Resonance

B) Inductive effect

C) Electromeric effect
D) Hyperconjugation

Bo8 0 24858085050

aria -1

A) °EIY

B) (058 Berdo

C) J@@fﬁ}ﬂé‘ Berso
D) =& Hoosnd

The correct answer is

;&Eﬁ-@:ﬁ DRFTS0

Options :
A B C D
[ vV IO

1.

'
to
®)
w

D

IT)
1)

V)
V)

1)

)

IV)
V)

List-1I
S e 0
JC=Cc{+H® —c-cl

H

a =
H—'L“HE—(Z‘H.2 3 H CH3=CH3

Cotls

e Ty OH

CH,~CH,~CH,CI

dar - 11

se=cl+u® —pe-e(

i

5 4 @
H-CH,—CH, «— H CH,=CH,

CéHﬁ
CH,-Z —> CH,+Z
CH,~CH,—CH,CI



Question Number : 137 Question Id : 4557344297 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The rate of dehydrohalogenation of which one among the followmg 1s less?

; = 5 i i o e -t W — ; T o
ol o8l S50 dorgdfios GImE TS RN Toddh J6?

Options :

1 CH;CHECHEBI

CH;CH,CH,C1
CH;CH,CH,I

CH; —|CH—CH21
CH,

Question Number : 138 Question Id : 4557344298 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Propymne reacts with HBr to form Z. The compound Z is
&8 HBr & ©$6gSod Z & ady6dyod. Z «d H3¢
Options :

| CH,(Br) CH,CH,Br

CH,CH,CHBr,

[

, CH,CH(Br) CH,Br

CH;CBr,CH,

Question Number : 139 Question Id : 4557344299 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A metal oxide crystallises in a hexagonal close-packed array of oxide 1ons with two out of
every three octahedral holes occupied by metal ions. The formula of metal oxide is

w856 eosrSe 83588 o A 79,8505 JAErS Erones® ST w8 & e8¢ 800 Boh, Ha
5:11“&:13 TGS Sogres” Bodotld S eairden -Egg}:c-:ﬁ)?ajm;. e 5T 51&

Foila® ki

|=--.f.nl

Options :

, MO

M.O

L3
(W]
4=

Question Number : 140 Question Id : 4557344300 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The quantity of CO, in 500 mL of soda water when packed under 3.34 bar CO, pressure at
208Kmgis
(Henry's law constant for CO, in water at 298 K1s 1.67 108 Pa).

298 K &¢ 3.34 bare COjbc’séorﬁ* Sen BHS 500 mL “w“r,%@"m CO,5887080 god”

o

(298 K 58 HBS* CO, % T Dot oeoso 1.67 x 108 Pa)

Options :
3 AA2
1_ .—.4—1'.-.

1.221

L
e
[l
[wa)
i

Question Number : 141 Question Id : 4557344301 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



300 mL of an aqueous solution of a protein contains 2.52 g of the protem. If osmotic
pressure of such a solution at 300 K is 5.04 = 107 bar. the molar mass of the protein
in g mol is

300 mL &F8S sordnos® 2.52 g o @#85 &oh. 300 K S8 & @S0 (Bardldde

htSo 5.04 % 107 barwons = @SS drerd (5078 g mol o

Options :
83.0 x 10°

20.8 % 103

41.5 = 103

41.5 = 10*

Question Number : 142 Question Id : 4557344302 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The conductivity of 0.01 M aqueous acetic acid measured with a conductivity cell of cell
constant of 0.5 cm™ at 298 K is 3.12 = 107*S. If the limiting conductivities of H and
CH,COO" at the same temperature are 349. and 41 S em? mol™! respectively. the dissociation
constant of acetic acid 1s

298 K58 0.5 em o E:gcﬁoécn fe avir8 obod FONE 0.01 MIJEE ey zomdoo
s 3.12 % 10748, 8 &id 58 H'. CH;C00 o ©588 Drerd ardrgden S60m

349. 41 S cm” mol &0 IH¢E w0 DHotad Horoso

Be

Options :

, 167 x 107
, 1.67 %107
5. 1.67 x 1073

, 1.67 1079

Question Number : 143 Question Id : 4557344303 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



AtT(K). the following data were obtained for a general reaction A+ B + C—— products

T(K) $¢ 2.8 argrde £S6gs0 A+B+ C—— Eoiraargen, §od dorozren odadsd.

Expt. Tnitial [A] Initial [B] Initial [C] Initial rate
Bd@riio esdoel [A] esoef [B] eagfoes [C] esfoaion
1 0.02 M 0.1M 0,03 M 2.4 x 1079 Ms1
2 0.02M 0.2M 0.03 M 4.8 x 109 Ms™?
3 0.02 M 0.2M 0,06 M 9.6 x 1079 Ms™!
4 0.04 M 02M 0.06 M 9.6 x 109 Ms!

The rate constant for the above reaction 1s

o gk rﬁﬁ'gﬂé:o Q0”080

Options :
| 8.0x 107
8.0 % 10*L molls?!

8.0 < 10* Lmol s

[N ]

4. 8.0 x 104 L2 mol2 s}

Question Number : 144 Question Id : 4557344304 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In which one of the following processes the reactants and catalyst exist in three different
states?

& 1§08 HPSes” nae” |Bolradsen, ﬁﬁjc‘iﬁa Sarcd) VDR e Gotrow.
Options :
Haber's process

wed HGa
l. [

Ostwald's process
STV ga

1



Hydrogenation of Vegetable oil

®0 IrEed8doo

&
o

. g Hoeoh

Contact Process

ﬁcjcﬁﬂ. (sr0é78) Hdé
4 =14 & &

Question Number : 145 Question Id : 4557344305 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What 1s the slag formed in the extraction of iron?

048 BSoydrmos® Ik SHrHoo J6?

Options :
1 CaO

CaSio;
MgSiO;

Si0,

Question Number : 146 Question Id : 4557344306 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Calcium phosphide reacts with water to form Ca(OH), and X. When X is passed into CuSOy
solution. Y and H,SO, are formed. Whati1s Y?

529050 )k QS S6gToh Ca(OH); Sodcsn X e 26)8dod. X & CuSO,
@He0s’08 Hodbowne Y Hdain HySOsen dfymon. Y Ih?
Options :

[Cu (PH3))*

[Cu(PH;)s]*"

Cll_?,P 2

, CuHPO,



Question Number : 147 Question Id : 4557344307 Question Type : MCQ Display Question Number
Option : No Option Orientation : Vertical

Identify the statements which are not correct.
1.  ZnO.PbO. Sb,0j5 are neutral oxides.

1.  CO and NO are amphoteric oxides.

1. CrO3, Mn,O5. V,0; are basic oxides.

RGOS Jdden T oD Mfowdidn.
1. ZnO,PbO, Sby03en d&3 esB)fen

.  COH0dcdsn NO ex Bideers wgiGen

1. CrO;. Mn,04, V0500 526 es85)Gen

Options :
| L

e

i i

()

1. 11. 111

=

Question Number : 148 Question Id : 4557344308 Question Type : MCQ Display Question Number
Option : No Option Orientation : Vertical

: Yes Single Line Question

: Yes Single Line Question

Which one of the following liberates oxygen immediately when passed into water?

&

1 & 3 ; L = = - v
Bol 8" B WSS HORoNNDYE shus Jobd JBEBH5?
Options :

1. F;

Cl,

&

[

BI’_’}

Question Number : 149 Question Id : 4557344309 Question Type : MCQ Display Question Number
Option : No Option Orientation : Vertical

: Yes Single Line Question



Assertion (A) : Cul, cannot be prepared by the reaction of Cu® (aq) with I(aq)
Reason(R):  Agqueous Cu’" solution is blue in colour

SN (A): Cu (mo) & IHaew) 5 $Sogmaod Culyd So5rdBoHBEn

s8sn (R): Cuf mo 3S50sn 50 Ko Sotnoh

The correct answer 1s
BBE@E DdrpEddn

Options :
Both (A) and (R) are correct and (R) is the correct explanation of (A)

| (A) So8ain (R) en 300050 H500n (A) @ng) 508G 25060 (R)

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(A) HBain (R) o 58@5a 570 (A) 0308), H8G Jddm (R) s

L3

(A) 1s correct but (R) 1s not correct

, (1) 8086 50 (R) $0GH56 560

(A) 1s not correct but (R) 1s correct

(A) 3500856 5= 570 (R) 50500858
4. = =

Question Number : 150 Question Id : 4557344310 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A coordination compound is made of Co®", NH; and CI". 0.1 M solution of this complex
when treated with excess silver nitrate gave no precipitate. The formula of the complex and
secondary valency of metal are respectively.

&8 DB0Bgo% HIFso Co’". NH,; 508050 Cled® d\dos. 0.1 Mde & 50355 @SQ)
B8 DHeocd JHEE SE§ToboNBHE LIFHEN B, & Jo3NH FOer SN
S0 Mg Eodd DY SEdm

Options :

| [Co(NH;);CL].6

_ [Co(NH,), C1]CL,, 6



, [Co(NH,), CL,]. 3

, [Co(NH,), CL] CL 6

Option : No Option Orientation : Vertical

groups in X and Y are respectively

Question Number : 151 Question Id : 4557344311 Question Type : MCQ Display Question Number : Yes Single Line Question
Nvlon 6. 6 1s a condensation polymer of two monomers X and Y. The number of — CH,—

o 6. 6 wnsd X, Y ed Jod e

s T K}uspg 58

Sl P, vopons FoXd. X. Y od - CH-
S Ta
Options :
1 6.4
7. 6.6
3 5.6
-
4.6.2

Question Number : 152 Question Id : 4557344312 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Reducing saccharides among the following are

Sucrose Ribose Maltose Lactose Cellulose

1 2 3 4 5
Bod o°¢3e” §of8dse 80k
S5 E oiag:] Sreitd er8's Elesidon]
1 2 3 4 5
Options :
| 2,4.5
T
5 2.3.5
2.3,



Question Number : 153 Question Id : 4557344313 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Examples of antihistamine (X) and cationic detergent (Y) are

SroBirans (X), shoirds & 83008 (Y) o sorine
X Y
Options :
Dimetane Cetyl trimethyl ammonium bromide
AR08 086 BNES ¥BrIcH @b
b
Nardil Cetyl trimethyl ammonium bromide
slrtal 285 BdS w3rdchay @G
1.
Dimetane Sodium lauryl sulphate
AT PFA0HHD o 8S STHS
3.
Nardil Sodium lauryl sulphate
Sxelela] Aoy ebd :ﬁ:}-ﬁf
4.

Question Number : 154 Question Id : 4557344314 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

S,;2 reaction involving inversion of configuration takes place with an optically active

compound Z. The compound Z 1s

Z sy b ;,5 feydd Ko Han é‘So 5 tﬁ'ﬁéﬂ Jﬂf@i}j@ S5 E}a'fgéo adhmhéod.
?333;;*#5533 Z &55055

Options :
| CH,CHX
(CH,), CHX

, CH,CH,CH(CHyX

, (CH,CX



Question Number : 155 Question Id : 4557344315 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Ethyl magnesium bromide reacts with acetone to give X. On hydrolysis X forms

S35 o @6, JVERS $6g 200 XOdob. X 20dFhn dobr 6@

Options :

CH,—CH,-CH,-CH-CH,
OH

CH,—CH,-CH—CH,—CH,
2~ 2
. OH

OH

|
CHj—E‘HQ—T‘—CH}
CH,

CH,-CH,—- CH-CH,0H
2 2
CH;

Question Number : 156 Question Id : 4557344316 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the correct set from the following.
Bod &°¢83e5° H0GHS Had MHiodod.

Compound PK,
SHAPLEESY
Options :
m-nitrophenol. 10.2

=3 b =
m-J e D TD
o

1.



o-nitrophenol, 10.2

0-JEnTS

m-nitrophenol, T.2
m-IES o TS

3
o-nitrophenol. 7.2

0-F¢ DS

Question Number : 157 Question Id : 4557344317 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What are X and Y in the following reactions?
BoB Stz X. Y en 227
R CH,08 SOHE s

CH;

Gt i SBE

CH;
Options :
C—=0
1 R “H Hye”
%
r”oH Hﬁch—EHz
O
H;C\
A c=c,

3 H;¢”



H,C
/J’k - \C:D
H,¢”

Question Number : 158 Question Id : 4557344318 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

X and Y in the following reaction sequence are

Boh dorgEdos” XY en

0
. |
RMgX— 22 y% * sR-C-R'
X Y

Options :
| RCdcl R COCl
, RCd (R' CO),
, Rcd R' COC1
, RMgCdCl, R COOR'

Question Number : 159 Question Id : 4557344319 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Order of acidity of benzoic acid (I). 4-methoxybenzoic acid (II). acetic acid (III) and
4-mitrobenzoic acid (IV) 13

Bo"on§ =do (I). -1-::0:;‘% do onf esdo (II), J0EE sdoo (1), 4-3¢5"Hos 00

0 (IV) o ssddngso

Options :
 IV>1>11>1I

,I>1>1IV >



,OM>I>0>1V

LI >1>1IV > I

Question Number : 160 Question Id : 4557344320 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What are the structures of X. Y and Z in the following reaction sequence?

8od SorgEHos” XY, Z o do7saren 297

- =
, (CH;CO),0 HNO3;/H.S04 5
50h5
X X Z
Options :
NHCOCH, Q NHCOCH, QNH
NO, NO,
1.
N(COCH,), QN(CGCH s O NH,
O,N 0O,N
N(COCH;), DENQN(CDCHﬂE DjNQ NO,
NO, NO,
3.

NHCOCH, NHCOCH; @ NH,
O,N

O,N



Date: 23-04-18 AN (Shift 2)

APEAMCET-2018
Engineering Stream Preliminary Key

Q.No. | Answer Q.No. | Answer Q.No. | Answer Q.No. | Answer
1 1 41 2 81 2 121 3
2 4 42 2 82 1 122 2
3 3 43 2 83 4 123 3
4 4 44 2 84 4 124 1
5 2 45 1 85 4 125 4
6 2 46 1 86 1 126 3
7 3 47 1 87 2 127 3
8 3 48 3 88 2 128 1
9 1 49 1 89 1 129 4
10 3 50 4 90 2 130 2
11 1 S1 2 91 4 131 4
12 1 52 1 92 3 132 1
13 2 53 3 93 4 133 2
14 3 54 3 94 2 134 2
15 4 55 4 95 4 135 2
16 3 56 2 96 2 136 2
17 3 57 2 97 2 137 2
18 2 58 3 98 1 138 4
19 4 59 3 99 3 139 4

20 4 60 2 100 3 140 1
21 1 61 1 101 3 141 3
22 3 62 2 102 4 142 2
23 4 63 2 103 1 143 2
24 1 64 2 104 4 144 3
25 4 65 2 105 2 145 2
26 1 66 2 106 3 146 3
27 4 67 3 107 1 147 4
28 3 68 3 108 1 148 1
29 3 69 2 109 2 149 2
30 2 70 2 110 2 150 1
31 2 71 2 111 3 151 1
32 1 72 4 112 1 152 4
33 1 73 1 113 2 153 1
34 2 74 3 114 3 154 3
35 3 75 3 115 2 155 3
36 3 76 4 116 4 156 4
37 4 77 4 117 4 157 3
38 2 78 1 118 2 158 3
39 1 79 2 119 4 159 1
40 2 80 4 120 3 160 4
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